
§·¤æ§ü / Unit-I

1. Ò×æ¢» ·¤è ·¤è×Ì Üô¿Ó ·¤è Ÿæðç‡æØô´ ·¤è ÃØæBØæ
·¤èçÁ°Ð ×æ¢» ·¤è Üô¿ ·¤ô ×æÂÙð ·¤è ×éBØ çßçÏØô´
·¤è çßßð¿Ùæ ·¤èçÁ°Ð

Explain the degrees of ‘Price Elasticity of
Demand’. Discuss the main methods adopted
to measure the elasticity of demand.

¥Íßæ / OR

ED-214
M.A. 1st Semester

Examination, March-April 2021

ECONOMICS

Paper - I

Micro Economics

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) âè×æ‹Ì ©UÂØôç»Ìæ OïUæâ×æÙ çÙØ×

(b) ÂêçÌü ·¤è Üô¿

Write short notes on the following :
(a) Law of Diminishing Marginal Utility
(b) Elasticity of Supply

§·¤æ§ü / Unit-II

2. ÌÅUSÍÌæ ß·ý¤ çßàÜðá‡æ mæÚUæ °·¤ ©UÂÖô@Ìæ ·ð¤
â¢ÌéÜÙ ·¤è çßßð¿Ùæ ·¤èçÁ°Ð

Discuss the Indifference Curve analysis of
Consumer’s equilibrium.

¥Íßæ / OR

Âý·¤ÅU ¥çÏ×æÙ çâhæ‹Ì ·¤æ ¥æÜô¿Ùæˆ×·¤ ×êËØæ¢·¤Ù
·¤èçÁ°Ð

Critically examine the principle of Revealed
Preference theory.

§·¤æ§ü / Unit-III

3. çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÂçÚUßÌüÙàæèÜ ¥ÙéÂæÌ ·¤æ çÙØ×

(b) Ì·¤Ùè·¤è ÂýçÌSÍæÂÙ ·¤è âè×æ‹Ì ÎÚU

( 2 )
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Write short notes on the following :
(a) Law of variable proportion
(b) Marginal rate of technical substitution

¥Íßæ / OR

â×ôˆÂæÎ ß·ý¤ ·¤è âãUæØÌæ âð ©UˆÂæÎ·¤ ·ð¤ âæ`Ø
·¤ô çßSÌæÚU âð â×Ûææ§°Ð

Explain producer’s equilibrium with the help
of ISO-product curve.

§·¤æ§ü / Unit-IV

4. ©UˆÂæÎÙ Üæ»Ì âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? çßçÖ‹Ù
Âý·¤æÚU ·¤è ¥ËÂ·¤æÜèÙ Üæ»Ì ß·ý¤ô´ ·ð¤ â`Õ‹Ï ·¤ô
SÂcÅU ·¤èçÁ°Ð

What do you mean by Production Cost ?
Explain the relationship among different types
of short-run cost curves.

¥Íßæ / OR

Âê‡æü ÂýçÌØôç»Ìæ ·¤è ¥ßÏæÚU‡ææ ·¤ô SÂcÅU ·¤èçÁ°Ð
Âê‡æü ÂýçÌØô»è È¤×ü ·¤ô ¥ËÂ ¥õÚU Îèƒæü·¤æÜ ×ð´
â¢ÌéÜÙ ·ñ¤âð ÂýæŒÌ ãUôÌæ ãñU?

Explain the term ‘perfect competition’. Show
how equilibrium is attained in both short-term
and long-term by a Competitive Firm.
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§·¤æ§ü / Unit-V

5. °·¤æçÏ·ë¤Ì ÂýçÌØôç»Ìæ ·¤æ @Øæ ¥çÖÂýæØ ãñU?
°·¤æçÏ·ë¤Ì ÂýçÌØôç»Ìæ ·ð¤ ¥‹Ì»üÌ Ò¥çÌçÚU@Ì ÿæ×ÌæÓ
·¤ô ÚðU¹æç¿˜æ ·¤è âãUæØÌæ âð â×Ûææ§°Ð

What do you mean by Monopolistic
competition ? Explain ‘excess capacity’ under
monopolistic competition with the help of
diagram.

¥Íßæ / OR

¥ËÂæçÏ·¤æÚU ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð ¥ËÂæçÏ·¤æÚU
·ð¤ ¥‹Ì»üÌ ·¤è×Ì ÙðÌëˆß ×æòÇUÜ ·¤æ çßàÜðá‡æ
·¤èçÁ°Ð

Define Oligopoly. Discuss Price Leadership
Model under Oligopoly.

———



§·¤æ§ ü / Unit-I

1. ¥æØ ·ð¤ ¿·ý¤èØ ÂýßæãU âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?
°·¤ ç˜æ-ÿæð˜æèØ ¥ÍüÃØßSÍæ ×ð´ ¥æØ ·ð¤ ¿·ý¤èØ
ÂýßæãU ·ð¤ ç·ý¤Øæ‹ßØÙ ·¤è ÃØæBØæ ·¤èçÁ°Ð

What do you understand by circular flow of
income ? Explain the working of circular flow
of income in a three sector economy.

¥Íßæ / OR

ED-215
M.A. 1st Semester

Examination, March-April 2021

ECONOMICS

Paper - II

Marco Economics

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙô´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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âæ×æçÁ·¤ Üð¹æ¢·¤Ù @Øæ ãñU? ÚUæcÅþUèØ ¥æØ çßàÜðá‡æ
×ð´ â×æçÁ·¤ Üð¹æ¢·¤Ù ·ð¤ ×ãUˆß ·¤è ÃØæBØæ
·¤èçÁ°Ð

What is Social Accounting ? Discuss the
importance of Social Accounting in national
income analysis.

§·¤æ§ ü / Unit-II

2. ÒÒÂêçÌü ¥ÂÙè ×æ¢» SßÌÑ ©UˆÂ‹Ù U·¤ÚU ÜðÌè ãñUÐÓÓ
Áð0 Õè0 âð ·ð¤ §â ·¤ÍÙ ·¤è ¥æÜô¿Ùæˆ×·¤
ÃØæBØæ ·¤èçÁ°Ð

“Supply creates its own demand.” Critically
examine this statement of J. B. Say.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÂýÖæßÂê‡æü ×æ¢»

(b) Âè»ê ·¤æ ÚUôÁ»æÚU çâhæ‹Ì

(c) ·¤è‹â ·ð¤ ÚUôÁ»æÚU çâhæ‹Ì ·¤æ ×ãUˆß

Write short notes on the following :
(a) Effective Demand
(b) Pigouvian theory of employment
(c) Importance of Keynesian theory of

employment

( 2 )
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§·¤æ§ü / Unit-III

3. ©UÂÖô» ·¤æ ×Ùôßñ™ææçÙ·¤ çÙØ× @Øæ ãñU? ©UÙ Ìˆßô´ ·¤è
ÃØæBØæ ·¤èçÁ° çÁÙâð ©UÂÖô» Âýßëçîæ ÂýÖæçßÌ ãUôÌè ãñUÐ

What is Psychological law of consumption ?
Discuss the factors which affect propensity to
consume.

¥Íßæ / OR

©UÂÖô» È¤ÜÙ ·¤è âæÂðÿæ ¥æØ ÂçÚU·¤ËÂÙæ ·¤è
¥æÜô¿Ùæˆ×·¤ ÃØæBØæ ·¤èçÁ°Ð

Critically explain the relative income
hypothesis of consumption function.

§·¤æ§ ü / Unit-IV

4. çßçÙØô» ·¤è ÂýðÚU‡ææ âð @Øæ ÌæˆÂØü ãñU? °·¤
Âê¢ÁèßæÎè ¥ÍüÃØßSÍæ ×ð´ çßçÙØô» ·¤è ÂýðÚU‡ææ ç·¤Ù
ç·¤Ù ×éBØ Ìˆßô´ ÂÚU çÙÖüÚU ·¤ÚUÌè ãñU?

What do you understand by inducement to
invest ? Discuss the main determinants of
inducement to invest in a capitalist economy.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ×ð´ âð ç·¤‹ãUè´ Îô ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡
çÜç¹° Ñ

(a) »é‡æ·¤

( 3 )

DRG_88_(4) (Turn Over)



( 4 )

DRG_88_(4) 680

(b) ˆßÚU·¤

(c) ×é¼ýæ ÂêçÌü ÂÚU çÙØ‹˜æ‡æ

(d) ©U“æ àæç@Ì ×é¼ýæ

Write short notes on any two of the
following :
(a) Multiplier
(b) Accelerator
(c) Control of money supply
(d) High powered money

§·¤æ§ ü / Unit-V

5. çÈ¤àæÚU ·ð¤ ×é¼ýæ ÂçÚU×æ‡æ çâhæ‹Ì ·¤è ·ñ¤ç`ÕýÁ ÃØæBØæ
âð ÌéÜÙæ ·¤èçÁ°Ð ¥æÂ §Ù ÎôÙô´ ×ð´ âð ç·¤âð ©Uîæ×
â×ÛæÌð ãñ´U ¥õÚU @Øô´?

Compare Fisher’s version of the Quantity
theory of money with Cambridge version.
Which of the two you should prefer and
why ?

¥Íßæ / OR

×é¼ýæ ·¤è ×æ¢» ·ð¤ çâhæ‹Ì ×ð´ ÅUôçÕÙ ·ð¤ Øô»ÎæÙ
·¤è ÃØæBØæ °ß¢ ×êËØæ¢·¤Ù ·¤èçÁ°Ð

Explain and evaluate, Tobin’s contribution to
the theory of Demand for Money.

———



§·¤æ§ ü / Unit-I

1. çÙ`ÙçÜç¹Ì ¥æ¡·¤Ç¸Uæð ´ âð Õæ©UÜð ·¤æ çßá×Ìæ »é‡ææ¢·¤
™ææÌ ·¤èçÁ° Ñ

ß»ü 10-20 20-30 30-40 40-50 50-60 60-70 70-80

¥æßëçîæ 5 12 27 51 30 12 2

Calculate Bowley’s coefficient of skewness
from the following data :

Class 10-20 20-30 30-40 40-50 50-60 60-70 70-80

Frequency 5 12 27 51 30 12 2

¥Íßæ / OR

ED-216
M.A. 1st Semester

Examination, March-April 2021

ECONOMICS
Paper - III

Statistical and Quantitative Methods

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙô´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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çÙ`ÙçÜç¹Ì ÂÚU çÅUŒÂç‡æØæ¡ çÜç¹° Ñ
(a) âãUâ¢Õ¢Ï ·¤è ×æ˜ææ
(b) âãUâ¢Õ¢Ï ·¤è â¢ÖæÃØ °ß¢ Âý×æÂ ˜æéçÅU
Write notes on the following :
(a) Degree of correlation
(b) Probable and standard error

§·¤æ§ ü / Unit-II

2. ‹ØêÙÌ× ß»ü çßçÏ âð ÂýÌèÂ»×Ù â×è·¤ÚU‡æ ·¤è »‡æÙæ
çßçÏ ÕÌæ§°Ð
Give regression equation calculation method
from least square method.

¥Íßæ / OR

Üæ»Úð´UÁ çßçÏ âð ¥æ¢ÌÚU»‡æÙ ·¤èçÁ° Ñ
ØçÎ x = 10, Ìæð y ·¤è »‡æÙæ ·¤èçÁ°

x 5 6 9 11
y 12 13 14 16

Interpolate using Lagrange’s method :
If x = 10, then calculate y

x 5 6 9 11
y 12 13 14 16

§·¤æ§ü / Unit-III

3. °·¤ ÂýçÌØæð»è ÂÚUèÿææ ×ð´ ·é¤Ü v}®® ÂýçÌÖæç»Øæð´ ×ð´
{wz âÈ¤Ü ÚUãðUÐ x®® ÂýçÌÖæç»Øæð´ Ùð ·¤æðç¿¢» @Üæâ
Öæ»èÎæÚUè ·¤è ¥æñÚU ©UÙ×ð´ âð v}®® âÈ¤Ü ÚUãðUÐ ØêÜ
·¤æ âæãU¿Øü »é‡ææ¢·¤ ™ææÌ ·¤èçÁ°Ð

( 2 )
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Toal 1800 candidates appeared for a
competitive examination 625 were successful,
300 had attended a coaching class and of
these 180 came out successful. Calculate
Yule’s coeffiicient of association.

¥Íßæ / OR

(a) ÂýæçØ·¤Ìæ ·¤è »ç‡æÌèØ ÂçÚUÖæáæ ÎèçÁ°Ð

(b) â¢ÖæßÙæ ·¤æ »é‡ææˆ×·¤ Âý×ðØ @Øæ ãñU?

(c) ƒæÅUÙæ¥æð´ ·ð¤ Âý·¤æÚU ÕÌæ§°Ð

(a) Define porbability mathematically
(b) What is multiplication theorem of

probability ?
(c) Give types of events.

§·¤æ§ ü / Unit-IV

4. çÈ¤àæÚU ·¤æ ¥æÎàæü âê¿·¤æ¢·¤ @Øæ ãñU? çÙ`Ùæ¢ç·¤Ì
¥æ¡·¤Ç¸Uæð´ âð §â·¤è »‡æÙæ ·¤èçÁ° Ñ

ßSÌé°¡
2018 2020

×êËØ ×æ˜ææ ×êËØ ×æ˜ææ
A 5 100 7 110
B 15 120 20 125
C 20 160 30 170

What is Fisher’s Ideal Index Number ?
Calculate by the following data :

( 3 )
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Commodity
2018 2020

Price Qty Price Qty
A 5 100 7 110
B 15 120 20 125
C 20 160 30 170

¥Íßæ / OR
â×Ø °ß¢ Ìˆß ©Uˆ·ý¤æ`ØÌæ ÂÚUèÿæ‡æ ·¤æð âê˜æ ·¤è
âãUæØÌæ âð SÂcÅU ·¤èçÁ°Ð
Clarify time and factor reversibility with the
help of formula.

§·¤æ§ ü / Unit-V

5. ·¤æÜŸæð‡æè @Øæ ãñ? §â·ð¤ ƒæÅU·¤æð´ ·ð¤ ÂëÍ@·¤ÚU‡æ ÂÚU
çÅUŒÂ‡æè ·¤èçÁ°Ð
What is Time Series ? Comment on seperation
of its components.

¥Íßæ / OR
Îèƒæü ·¤æçÜ·¤ ©UÂÙçÌ ·¤æð ™ææÌ ·¤èçÁ°Ð ÌèÙ ßáèüØ
¿Ü ×æŠØ ·¤æ ©UÂØæð» ·¤èçÁ°Ð

ßáü 2010 11 12 13 14 15 16 17 18 19 20 21 22
×æ˜ææ

(’000) 60 68 52 30 70 40 75 30 50 75 60 80 75
Calculate Secular Trend. Use three yearly
moving average.

Year 2010 11 12 13 14 15 16 17 18 19 20 21 22
Quantity

(’000) 60 68 52 30 70 40 75 30 50 75 60 80 75
———



§·¤æ§ ü / Unit-I

1. ÂýçÌ ÃØç@Ì ¥æØ ·¤ô ÂçÚUÖæçáÌ ·¤èçÁ°Ð @Øæ ØãU
çß·¤æâ ·¤ô ×æÂÙð ·¤æ ©Uç¿Ì Âñ×æÙæ ãñU? ÖæÚUÌèØ
¥ÍüÃØßSÍæ ·ð¤ â¢ÎÖü ×ð´ çßßð¿Ùæ ·¤èçÁ°Ð
Define per capita income. Is this an
appropriate measure of development in the
economy ? Explain with reference to Indian
economy.

¥Íßæ / OR

ED-217
M.A. 1st Semester

Examination, March-April 2021

ECONOMICS

Paper - IV

Indian Economy

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙô´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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¥Ïüçß·¤çâÌ ¥Íßæ çß·¤æâàæèÜ ¥ÍüÃØßSÍæ ×ð´
âðßæ ÿæð˜æ ·ð¤ ×ãUˆß ·¤ô Îàææü§°Ð ÖæÚUÌèØ ÂçÚUÂýðÿØ
×ð´ âðßæ ÿæð˜æ ·ð¤ ßÌü×æÙ çß·¤æâ ÂÚU çÅUŒÂ‡æè ·¤èçÁ°Ð

Describe the importance of Service sector in
developing or underdeveloped economy.
Comment on the present growth of Service
sector in Indian perspective.

§·¤æ§ ü / Unit-II

2. Ò»ýæ×è‡æ ÁÙâ¢BØæ ·¤æ Ù»ÚUèØ ÂýßæâÓ ÂÚU çÙÕ¢Ï
çÜç¹°Ð

Write an essay on ‘migration of rural
population to urban areas’.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÃØßâæçØ·¤ â¢ÚU¿Ùæ ¥õÚU ¥æçÍü·¤ çß·¤æâ

(b) ÀUîæèâ»É¸U ·¤è ÁÙæ¢ç·¤·¤èØ çßàæðáÌæ

Write short notes on the following :
(a) Occupational structure and economic

development
(b) Demographic features of Chhattisgarh

§·¤æ§ü / Unit-III

3. ·ë¤çá âæ¹ ×ð´ ÙÕæÇüU (NABARD) ·¤è Öêç×·¤æ
·¤æ ß‡æüÙ ·¤èçÁ°Ð

( 2 )
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Discuss the role of NABARD in Agricultural
Credit.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÖæÚUÌ ×ð´ Öêç× âéÏæÚU

(b) ÖæÚUÌ ×ð´ ¹æl âéÚUÿææ

Write short notes on the following :
(a) Land reforms in India
(b) Food security in India

§·¤æ§ ü / Unit-IV

4. v~~v ·¤è ¥õlôç»·¤ ÙèçÌ ÂÚU çßSÌëÌ Üð¹ çÜç¹°Ð

Write a detailed article on Industrial policy of
1991.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) ÖæÚUÌ ×ð´ ¥â¢»çÆUÌ ÿæð˜æ

(b) âêÿ×, Üƒæé °ß¢ ×ŠØ× ©Ulô»

Write short notes on the following :

(a) Unorganised sector in India

(b) Micro, small and medium enterprise

( 3 )
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§·¤æ§ ü / Unit-V

5. ÖæÚUÌ ×ð´ ª¤Áæü ÿæð˜æ ·ð¤ çß·¤æâ ·¤æ ¥æÜô¿Ùæˆ×·¤
×êËØæ¢·¤Ù ·¤èçÁ°Ð

Critically examine the growth of Energy sector
in India.

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂÚU â¢çÿæŒÌ çÅUŒÂç‡æØæ¡ çÜç¹° Ñ

(a) çàæÿææ ·¤æ ¥ÍüàææS˜æ

(b) ÂçÚUßæÚU ·¤ËØæ‡æ ¥õÚU ¥æçÍü·¤ çß·¤æâ

Write short notes on the following :
(a) Economics of education
(b) Family Welfare and Economic development

———



§·¤æ§ ü / Unit-I

1. È¤×ü âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U? È¤×ü ·ð¤ Âý·¤æÚUæð ´ ÂÚU
Âý·¤æàæ ÇUæÜÌð ãéU° ©Uâ·ð¤ ©UgðàØæð´ ·¤è ÃØæBØæ
·¤èçÁ°Ð

What do you understand by Firm ? Throw
light on the kinds of Firm and explain its
objectives.

¥Íßæ / OR

ED-218
M.A. 1st Semester

Examination, March-April 2021

ECONOMICS

Paper - V

Industrial Economics

Time : Three Hours] [Maximum Marks : 80

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙô´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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âæÁðü‡ÅU RÜæðÚð´ Uâ ·ð¤ ¥æñlæðç»·¤ SÍæÙèØ·¤ÚU‡æ çâhæ‹Ì
·¤æð â×Ûææ§°Ð

Explain the Sargant Florence’s theory of
industrial localization.

§·¤æ§ ü / Unit-II

2. ÖæÚUÌèØ ¥ÍüÃØßSÍæ ×ð´ âæßüÁçÙ·¤ ÿæð˜æ ·ð¤ ©Ulæð»æð´
·¤è Öêç×·¤æ ·¤æð â×Ûææ§°Ð

Explain the role of Public Sector industries in
Indian economy.

¥Íßæ / OR

¥æñlæðç»·¤ ©UˆÂæÎ·¤Ìæ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?
¥æñlæðç»·¤ ©UˆÂæÎ·¤Ìæ ·¤æð ÂýÖæçßÌ ·¤ÚUÙð ßæÜð Ìˆßæð´
·¤è çßßð¿Ùæ ·¤èçÁ°Ð

What do you understand by industrial
productivity ? Discuss the factors affecting
industrial productivity.

§·¤æ§ü / Unit-III

3. ÖæÚUÌèØ ¥æñlæðç»·¤ çß·¤æâ Õñ´·¤ ÂÚU Âý·¤æàæ ÇUæçÜ°Ð

Throw light on the Industrial Development
Bank of India.

¥Íßæ / OR

( 2 )
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ÖæÚUÌ ·ð¤ ÃØæÂæçÚU·¤ Õñ´·¤æð´ ·ð¤ ·¤æØæðZ ·¤æ ×êËØæ¢·¤Ù
·¤èçÁ°Ð

Evaluate the functions of the Commercial
Banks of India.

§·¤æ§ ü / Unit-IV

4. ÖæÚUÌ ×ð´ ¥æñlæðç»·¤ Ÿæ× ·¤è Âý×é¹ çßàæðáÌæ¥æð´ ·¤è
ÃØæBØæ ·¤èçÁ°Ð

Explain the main characteristics of industrial
labour in India.

¥Íßæ / OR

âæ×æçÁ·¤ âéÚUÿææ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U? ÖæÚUÌ
âÚU·¤æÚU mæÚUæ §â çÎàææ ×ð´ ©UÆUæ° »° ·¤Î×æð´ ·¤è
ÃØæBØæ ·¤èçÁ°Ð

What do you understand by Social Security ?
Describe the steps taken by Government of
India towards Social Security.

§·¤æ§ ü / Unit-V

5. ÖæÚUÌèØ ¥ÍüÃØßSÍæ ×ð´ ÜõãU-§SÂæÌ ©Ulæð» ·¤è
Öêç×·¤æ ·¤æð â×Ûææ§°Ð

Explain the role of Iron-Steel industry in
Indian economy.

¥Íßæ / OR

( 3 )
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¥æçÍü·¤ çß·¤æâ ×ð´ ·é¤ÅUèÚU ©Ulæð»æð´ ·ð¤ ×ãUˆß ·¤è
ÃØæBØæ ·¤èçÁ°Ð

Discuss the importance of cottage industries
in economic development.

———



§·¤æ§ü / Unit-I

1. çÙ`Ù â×¢·¤ô´ âð Õæª¤Üð ·¤æ çßá×Ìæ »é‡ææ¢·¤ ™ææÌ
·¤èçÁ° Ñ

¥¢·¤ z-vz vz-wz wz-xz xz-yz yz-zz zz-{z

¥æßëçîæ z vz xz zz wz vz

DD-216
M.A. 1st Semester

ATKT Examination, March-April 2021

ECONOMICS

Paper - III

Quantitative Methods

Time : Three Hours] [Maximum Marks : 80
[Minimum Pass Marks : 16

ÙôÅU Ñ âÖè ÂýàÙæð ´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð ´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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Find out Bowley’s coefficient of skewness
from the following data :

Marks 5-15 15-25 25-35 35-45 45-55 55-65

Frequency 5 15 35 55 25 15

¥Íßæ / OR

çÙ`Ù ¥æ¢·¤Ç¸Uô´ âð ·¤æÜü çÂØâüÙ ·¤æ âãUâ`Õ‹Ï
»é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

ÂçÌ ·¤è ¥æØé
  (ßáü ×ð´) wx w| w} w} w~ x® xv xx xz x{

ÂˆÙè ·¤è ¥æØé
  (ßáü ×ð´) v} w® ww w| wv w~ w| w~ w} w~

Calculate Karl Pearson’s coefficient of
correlation from the following data :

Age of Husband
     (in years) 23 27 28 28 29 30 31 33 35 36

Age of Wife
   (in years) 18 20 22 27 21 29 27 29 28 29

§·¤æ§ü / Unit-II

2. °·¤ ·¤`ÂÙè ·¤è ßæçáü·¤ çÕ·ý¤è Ùè¿ð Îè »§ü ãñUÐ
ßáü v~~y ·ð¤ çÜ° çÕ·ý¤è ·¤æ ¥Ùé×æÙ Ü»æ§°Ð

ßáü v~~w v~~x v~~y v~~z

çÕ·ý¤è (G Üæ¹ ×ð´) wx.y wy.w ? w}.x

( 2 )
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The annual sales of a company are given
below. Estimate the Sales for the year 1994.

Year 1992 1993 1994 1995
Sales (in G Lakh) 23.4 24.2 ? 28.3

¥Íßæ / OR

°·¤ ¥ŠØØÙ âð çÙ`Ùæ¢ç·¤Ì ÂçÚU‡ææ× ÂýæŒÌ ãéU° Ñ

Ÿæð‡æè X Ÿæð‡æè Y

â×æ‹ÌÚU ×æŠØ w.y{x w.|~|

Âý×æÂ çß¿ÜÙ ®.xw{ ®.w®|

X ¥õÚU Y ·ð¤ Õè¿ r = + ®.||y

™ææÌ ·¤èçÁ° Ñ

(i) ÎôÙô ÂýÌèÂ»×Ù â×è·¤ÚU‡æ

(ii) X ·¤æ ¥Ùé×æçÙÌ ×êËØ ØçÎ Y = w.xxy ãUôÐ

(iii) Y ·¤æ ¥Ùé×æçÙÌ ×êËØ ØçÎ X = x.®zw ãUôÐ

A study revealed the following results :
Series X Series Y

Arithmetic Mean 2.463 2.797
Standard Deviation 0.326 0.207

r between X and Y = + 0.774
Find Out :
(i) Two regression equations
(ii) The estimated value of X when Y = 2.334
(iii) The estimated value of Y when X = 3.052
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§·¤æ§ü / Unit-III

3. çÙ`Ù âæ×»ýè z®® ÃØç@ÌØô´ ×ð´ âæÿæÚUÌæ ÌÍæ
ÕðÚUôÁ»æÚUè âð â`Õç‹ÏÌ ãñ´ UÐ §ââð ¥æÂ âæÿæÚUÌæ
ÌÍæ ÕðÚUôÁ»æÚUè ×ð´ ØêÜ ·¤æ »é‡æ-â`Õ‹Ï »é‡ææ¢·¤
™ææÌ ·¤èçÁ° ÌÍæ ©Uââð çÙc·¤áü çÙ·¤æçÜ° Ñ

çÙÚUÿæÚU ÕðÚUôÁ»æÚU ww®

âæÿæÚU ÚUôÁ»æÚU ÂýæŒÌ w®

çÙÚUÿæÚU ÚUôÁ»æÚU ÂýæŒÌ v}®

The following data relate to literacy and
unemployment in a group of 500 persons. You
are required to calculate Yule’s coefficient of
association between literacy and
unemployment. Interpret it :

Illiterate unemployment 220

Literate employed 20

Illiterate employed 180

¥Íßæ / OR

çÙ`ÙçÜç¹Ì ÂýàÙô´ ·¤ô ãUÜ ·¤èçÁ° Ñ

(a) ØçÎ Ìæàæ ·¤è »aïUè ×ð´ âð °·¤ Âîææ ØæÎëç‘ÀU·¤
M¤Â âð çÙ·¤æÜæ ÁæÌæ ãñU, Ìô @Øæ ÂýæçØ·¤Ìæ ãñU
ç·¤ ßãU Òç¿Ç¸Uè ·¤è Õð»×Ó Øæ Ò§üÅU ·¤æ
ÕæÎàææãUÓ ãUô»æ?
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(b) °·¤ ÍñÜð ×ð´ } âÈð¤Î, { ·¤æÜè, y ãUÚUè ¥õÚU
w ÂèÜè »ð´Îð´ ãñ´ UÐ °·¤ ÂÚUèÿæ‡æ ×ð´ °·¤ ·¤æÜè
Øæ °·¤ ãUÚUè Øæ °·¤ ÂèÜè »ð´Î ·ð¤ çÙ·¤ÜÙð
·¤è @Øæ â`ÖæßÙæ ãñU?

Solve the following problems :

(a) If a card is drawn at random from a pack
of cards, what is the probability that it
will a ‘Queen of Clubs’ or a ‘King of
Diamonds’ ?

(b) A bag contains 8 white, 6 black, 4
green and 2 yellow balls. What is the
probability of drawing one black or one
green or one yellow ball in a single
trial ?

§·¤æ§ü / Unit-IV

4. çÙ`ÙçÜç¹Ì ¥æ¢·¤Ç¸Uô´ âð çÈ¤àæÚU ·¤æ ·¤è×Ì âê¿·¤æ¢·¤
ÂçÚU·¤çÜÌ ·¤èçÁ° Ñ

¥æÏæÚU ßáü ßÌü×æÙ ßáü
ßSÌé

·¤è×Ì ×æ˜ææ ·¤è×Ì ×æ˜ææ

A xw z® x® z®

B x® xz wz y®

C v{ zz v} z®

( 5 )
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Calculate Fisher’s price index from the
following data :

Base Year Current Year
Commodity

Price Quantity Price Quantity

A 32 50 30 50

B 30 35 25 40

C 16 55 18 50

¥Íßæ / OR

·¤æÜ Ÿæð‡æè @Øæ ãUôÌè ãñU? °·¤ ·¤æÜ Ÿæð‡æè ·ð¤

çßçÖ‹Ù â¢ƒæÅU·¤ô´ ·¤ô â¢çÿæŒÌ ×ð´ â×Ûææ§°Ð

What is a Time Series ? Explain briefly the
different components of a time series.

§·¤æ§ü / Unit-V

5. È¤ÜÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? È¤ÜÙ ·ð¤ çßçÖ‹Ù

Âý·¤æÚUô´ ·¤è ÃØæBØæ ·¤èçÁ°Ð

What do you understand by function ? Discuss
the various types of function.

¥Íßæ / OR

( 6 )
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ØçÎ ç·¤âè ©UˆÂæÎ·¤ È¤×ü ×ð´ ·é¤Ü Üæ»Ì È¤ÜÙ
çÙ`ÙæÙéâæÚU ãñU Ñ

TC = 0.003 q3 – 0.05 q2 + 7q + 10000

Ìô ™ææÌ ·¤èçÁ° Ñ

(i) ßSÌé ·¤è v®® §·¤æ§ü ·ð¤ ©UˆÂæÎÙ ·¤è ·é¤Ü
Üæ»Ì

(ii) âè×æ‹Ì Üæ»Ì

(iii) v®® §·¤æ§ü ·¤æ ©UˆÂæÎÙ ãUôÙð ÂÚU âè×æ‹Ì Üæ»Ì

If the total cost function of a producing Firm
is as follows :

TC = 0.003 q3 – 0.05 q2 + 7q + 10000

Then find out :
(i) Total cost of producing 100 units
(ii) Marginal cost
(iii) Marginal cost when 100 units are

produced
———

( 7 )
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